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10 - 20 - 302X {XDER SH6FE4A6H
IE {3 K % ouT I N TOTAL] HDCP NET
& B B ES 49 49 98 22.8 75.2
semps| (KA g 47 43 90 14.4 75.6
3 fz| EhHK 47 49 96 18 78
4 fz| B kKt 44 44 88 9.6 78.4
5 | T k— 51 56 107 26.4 80.6
B-B|] #KkE 67 65 132 36 96
A0E K DER

IE {3 K % ouT I N TOTAL] HDCP NET
& B| L EX 49 46 95 20.4 74.6
T BEEEEN 48 46 94 19.2 74.8
3 | allFE 56 53 109 32.4 76.6
4 | HE #E 38 56 94 15.6 78.4
5 | XBHER 51 50 101 21.6 79.4
B-B| BH&#A 74 75 149 36 113
505X DER

IE {3 K % ouT I N TOTAL] HDCP NET
& | BFE A 42 38 80 9.6 70.4
ey BEESIRE 47 45 92 20.4 71.6
3 | BHE 43 41 84 12 72
4 | HAER 44 39 83 9.6 73.4
5 fz| Il FBIE 46 38 84 9.6 74.4
B-B| ffL &R 67 58 125 36 89
60X DER

IE {3 K % ouT I N TOTAL] HDCP NET
A ECET 42 44 86 13.2 72.8
] HE —F 43 44 87 13.2 73.8
3 | X Eah 46 47 93 19.2 73.8
4 | =@ = 52 48 100 25.2 74.8
5 | ERE =t 42 45 87 12 75
B-B| f#¥ it 54 54 108 26.4 81.6
70 - 80X DER

IE {3 K % ouT I N TOTAL] HDCP NET
& B wnl Bz 38 39 77 4.8 72.2
s L F= 42 43 85 12 73
3 | ZER#H 33 41 74 0 74
4 x| Rk EE 51 46 97 22.8 74.2
5 fz| B 40 46 86 10.8 75.2
B-B|] #M@E=E 50 55 105 22.8 82.2
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